P e e e

Maths

..................................................



Number Bonds Challenges Number Bonds Challenges
Number Bonds Challenge 1 Number Bonds Challenge 1

1+4= O+5h= 3+2-= 1+ 4= O+5-= 3+2=
3+3-= 2+ 4 = 3+3-= 3+3-= 2+ 4 = 3+3=
4+ 1= 1+4= 4+ 2 = 4+ 1 = 1+4= 4+ 2=
6+0-= 3+ 1 = 5+0-~= 6+0= s% ] = 5+0-=
2+ 4 = 4+ 2 = 2 + 4 = 2 + 4 = 4+ 2 = 2+ 4=
3+2= 0+5= 3+3= 3+2-= 0+5-= 3+3=
b+ 1= 6+0-= l1+5= 2+ 1= 6 +0 = 1+5-=
0+6= 2 + 4 = 6+0= 0+6= 2+ 4 = 6+0=
3+3= 5+ 1= 4+ 1 = 3+3= 5+1-= 4+ 1 =
2+3= 3+2-= 0+5-= 2+3= 3+2= 0+5-=
3+2= 4 % ] = 5+1-= v = Lh+1-= 2+ 1=
1+5= O+5-= 2+ 4= l+a = O+5-= 2 + 4 =
§+3= 2% 3= 3+3= 2+3-=

L+ 2 = 1+4-= L+ 2= 1+4-=




Number Bonds Challenges Number Bonds Challenges
Number Bonds Challenge 2 Number Bonds Challenge 2

L+ 5= 1+6-= 2+6-= 4% 3 = 1+6-= 2+6-=
3+4= S5+ 4= F+l= 3+4 = 5+4 = 7+1-=
l+1= 2+5= Z# 3= 1+7= 2#* 5= 2+5=
5+3-= 3+6-= 3+6-= 5+3= 3+6-= 3+6-=
I+ 2= 0+7-= 7+2-= T+2= 0+7-= 7+ 2=
1+8-= 6+3-= 1+8-= 1+8-= 6+3-= 1+8-=
0+7-= 1+7= 0+7-= 0+7-= 1+7-= 0+7-=
b4 + 4 = 5+ 4= 4 + 5 = b4 + 4 = 5+ 4= 4 + 5 =
2+ 5= 2+ 0= 6+ 2= 2+5 = 9+0-= 6+2-=
9+0-= 3+6= 3+4= 9+0-= 3+6-= 3+4=
h# 3= 2+5= 9+0-= 4+3= 2+ 5= 9+0-=
8 +0 = 6+1= 2+ 3= 8 +0 = 6+1-= 5+ 3=
S# 2= 1+8-= b% 2= 1+8-=

4 + 4 = 8+0-= L + 4 = 8+0-=




Number Bonds Challenges Number Bonds Challenges
Number Bonds Challenge 3 Number Bonds Challenge 3

10 + 10 = 12 + 8 = 16 + 4 = 10 + 10 = 12 + 8 = 16 + 4 =
5+ 15 = 9 +10 = 3+ 17 = 5+ 15 = 9+ 10 = 3+ 17 =
O+ 20-= 7+ 13 = 12 +7 = 0O+ 20-= 7+ 13 = 12 +7 =
9 + 10 = 19 +1 = 4+ 15 = 9 +10 = 19 +1 = 4+ 15 =
4+ 16 = 6 + 13 = 11 +9 = 4L+ 16 = 6 + 13 = 11 +9 =
18+ 2= 2+ 18 = 2+ 17 = 18 + 2 = 2+ 18 = 2+ 17 =
1+ 18 = 13 + 6 = 10 + 9 = 1+ 18 = 13 +6 = 10 + 9 =
14 + 6 = 20+ 0 = 8+ 12 = 14 + 6 = 20+ 0 = 8+ 12 =
11 + 8 = 15 + 4 = 17+ 3 = 11 +8 = 15 + 4 = 17 + 3 =
7+ 12 = 13+7 = 5+ 14 = 7+ 12 = 13+7 = 5+ 14 =
6+ 14 = 14 + 5 = 16 + 3 = 6 + 14 = 14 + 5 = 16 + 3 =
8+ 11 = 18 + 2 = 1+19-= 8 +11 = 18+ 2 = 1+19-=
3+16 = 9 +11-= 3+ 16 = 9 +11-=

10 + 10 = 15 +5 = 10 + 10 = 15+5 =




Number Bonds Challenges

Number Bonds Challenge 4

Number Bonds Challenges

Number Bonds Challenge 4

L + 6 = 2+ 18 = 50 + 50 =
1+09-= 70 + 30 = 80 + 20 =
30 + 70 = 14 + 6 = 2+8+=
54 15 = 5+5-= 17 + 3 =
80 + 20 = 17 +3 = 40 + 60 =
>4+ 8 = 11 +9 = 100 + 0 =
13+ 7 = 90 + 10 = 3=
10 + 90 = 6 + 4= 1+9-=
16 + 4 = 70 + 30 = 70 + 30 =
7 + 13 = 1+9= 18 + 2 =
10 + 10 = 14+ 6 = o +15=
1+9-= 0+ 20 = 10+ 0 =
8+2 = 2+ 18 =

50 + 50 = I#3=
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L+ 6 = 2 +18 = 50 + 50 =
1+9-= 70 + 30 = 80 + 20 =
30 + 70 = 1% % § = 2+8=

5+ 15 = 5+5= 17 + 3 =
80 + 20 = 17 + 3 = 40 + 60 =
2+ 8= 11 +9 = 100 + O =
13 +7 = 90 + 10 = 3+7-=

10 + 90 = 6+ 4 = 1+9-=

16 + 4 = 70 + 30 = 70 + 30 =
7+ 13 = 1+9= 18 + 2 =
10 + 10 = 14 + 6 = 5+ 15 =
1+9-= 0+ 20-= 10+ 0 =
8 +2 = 2+ 18 =

50 + 50 = 7+3=

Quality Standard

Approved



Adding with Some Regrouping (A)

Find each sum.

9 4 2
+1 +1 + 7
3 9 7
+7 + 6 +9
5 2 1
+ 4 +6 +5
3 9 3
+1 + 8 + 8
8 5 7
+5 +1 + 8
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English
Level One
Task One




Tim’s Bedtime

This is
what I do when
I go to bed.

y

VA

Ifill the sink
with water.

I pull out the plug
and then go to bed.




Copy the right answers.

1 What does Tim do first? (
Tim washes his face. Tim fills the sink.

2 Does Tim wash his face before he brushes his teeth?
Yes No

3 What does Tim do after he brushes his teeth?
He pulls out the plug. He washes his face.

4 Sink is a naming word. It tells us the name of something.
Find three naming words in Tim’s Bedtime and write them down.

Look carefully at the title and pictures.

5 How do we know Tim isn’t getting ready in the morning?

What do you do when you
get ready for bed?




